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Tune 2= Helium collision 2&
RF Power 1,550W
Carrier gas & 0.4L/min
Sample Depth 8.0mm
Extraction 1 0.0v
Extraction 2 -190.0V
Spray chamber 2= 2°C
Extract 1 0.0v
Extract 2 -190.0V
He |2 5.0ml/min
Energy Discrimination 5V

H 2. IAS GED A|AHI 24 =74,
I}2to|E i
AAR Y GED-Q
ANE 7tA R 800mL/min
Nebulizer pressure for MSAG | 0.275MPa
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¥ pe |ne) 24 mg | ne | i A pne | %% va pnej
10 2 |y = 56.2811 * x + 03333 x10 3 |y = 115.0409 * x + 0.3333 s x10 2|y = 341791 * x + 83333 x10 2|y = 45,5569 * x + 93,6667
R= 09986 R = 09982 - R= 09972 R= 09929
DL = 0.03077 ppt DL = 0.01506 ppt / 4{DL = 02209 ppt o DL = 0.8594 ppt
. BEC = 0.005923 ppt BEC = 0.002898 ppt o BEC = 0.2438 ppt ./ . BEC = 2.056 ppt
1 1 - ~
& & N 5 & &
' 2 -
0s p /‘/'r
0 0 0 0
5.0 10.0 5.0 10.0 50 1 5.0 100
Conclppt) Conc{ppt) Conclppt) Conclppt)
52 Cr [He] 55 Mn [He] 56 Fe [He] 60 Ni [He]
x104|y = 1556.9828 * x + 49.3333 X104 |y = 762.6190 * x + 5.6667 - x10 4|y = 1324.6904 * x + 416.3433 x10 4|y = 776.2759 * x + 7.0000
1R = 09993 R= 09992 g R= 09997 R= 09990
DL = 0.004849 ppt DL = 0.004542 ppt P g 1.54 DL = 0.04002 ppt P DL = 0.01393 ppt
BEC = 0.03169 ppt BEC = 0,007431 ppt o BEC = 0.3143 ppt s BEC = 0.009017 ppt
ER 5 o5 ’/ S A S oos
e /
= 05
,/ e
0 0 r/‘ 0¥ 0
5.0 1 50 10.0 50 10.0 50 1
- Conclppt) _ Conclppt) Conclppt) _ Conclppt)
63 Cu [He] 75 As [Hel 114 Cd [He) 208 Pb [He]
x10 4|y = 2206.6538 * x + 11723900 x10 3{y = 135.5531 * x + 28.0000 - x10 4|y = 12427079 * x + 6.0000 x10 4|y = 6035.1433 * x + 331.0100
1R = 09992 R= 09983 / R= 09992 R= 09992
DL = 0.04519 ppt DL = 0.1328 ppt / 1oL - 002414 ppt /,/ DL = 0.007221 ppt
BEC = 0.5313 ppt BEC = 0.2066 ppt » BEC = 0.004828 ppt - BEC = 0.05485 ppt
21 i A 1 -~ s 5
5 S 1 ,/‘ § //r ]
P e
R & 05 /./
s &
0 0k 0= 0
5.0 10.0 5.0 100 5.0 10.0 5.0 100
Concippt) Concppt) Conclppt) Conclppt)
gl 5. plAE 2R lofE.
H 4. A Z2E ZIHTR] ppt).
M=ol
oA a2k Human breathin
o 22 Cell gas Air after filter . X Human breathing Cigarette smoke i 4
v () Air of Agilent LAB HZ 1) M2 2) after smoking
P (=2 3)
1 Be 9 He <0.000 <0.000 <0.000 <0.000 <0.000
2 Mg 24 He 0.003 0.829 0.006 11.069 <0.000
3 Al 27 He 0.020 0.527 0.234 0.351 0.176
4 Ca 44 He 0.637 11.707 10.478 6.271 9.717
5 Cr 52 He 0.006 0.056 0.004 0.080 0.002
6 Mn 55 He 0.001 0.835 0.015 2.236 <0.000
7 Fe 56 He 0.021 4.555 0.440 8.793 0.057
8 Ni 60 He <0.000 0.051 0.004 0.569 <0.000
9 Cu 63 He 0.010 <0.000 <0.000 36.180 <0.000
10 As 75 He <0.000 0.098 <0.000 10.634 <0.000
11 Cd 114 He 0.000 0.005 <0.000 54.484 <0.000
12 Pb 208 He 0.006 0.232 <0.000 30.691 <0.000




ot AA 7| 2ol ZELEE S fIoiM = ICP-MSHIM HAlZte = AlZttE 2 AU X2t e AL 2LE-EE Jtset XS
CIOIHE =8 & 24 + A= 5HS 21 A0{oF LTt EOZ =oleh = QAELICE E3 H|0[E0 M EOIL AN 2EQ
Agilent 7850 ICP-MSE= TRA(time resolved analysis) ZE& KR OHENZVE B2H0 FTe T AS HAICE Holg
HR3t0 0] of2fe] 17 6~82] H|O|E{2t 20| HA|ZtC 2 A0 oA ZHE= HIO[E7F HHIOM Li2E LB = 0| ot &K
2459 count 242 =I5t0] 5T AlZfi2t £ sampling Z240i| NZOM e = ZYuUS efeled & %‘ﬁ'—llik
et s34 dEZ0| Fatd 5= A=A =g 5= of, 71&E
F"_‘l '-":: Range E1C[208) : 001SMPL.d
x10 4
2
Room Ajr with Filter Room Air Room Air with Filter Room Air
:5: ]
I
o
20 40
RT(min)
a2 6. 3715 H(Pb) HAIZHEA Ho]H.
Chromatogram - 2 X
Aw i D L 2
TICEIC 75 B EELRAA Ly FrREENE
Fl“! r"'\\:\ Range EIC(75) : 001SMPLd
" Cigarette Smoke Cigarette Smoke Cigarette Smoke
3 with Filter with Filter with Filter
Cigarette Smoke Cigarette Smoke
R
20 40
RT(min)
32 7. 5l 87| S HlA(As)2] AAIZH 24 HIO]E].
Chromatogram v X
Avi¢Ey et
Tc/eIc] 111 lx® EANAEsVEBRANS

= Range EIC(111) : 001SMPLd

x104
Cigarette Smoke
with Filter

Cigarette Smoke

Count

Cigarette Smoke
with Filter

Cigarette Smoke
with Filter

F(Cd)el &AIZH 24 Ho]E.

RT(min)
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Trusted Answers

0|H|: korea-inquiry_lsca@agilent.com
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